

6.

$$\begin{aligned}
 & (\sigma_1, \sigma_2, \sigma_3), \\
 & (*) \\
 & s_k = \sigma_1 s_{k-1} - \sigma_2 s_{k-2} + \sigma_3 s_{k-3}, \\
 & \sigma_1, \sigma_2, \sigma_3 \cdot \\
 & s_{k-1}, s_{k-2}, s_{k-3} \cdot \\
 & (*) \\
 & \sigma_1, \sigma_2, \sigma_3, \dots, s_k
 \end{aligned}$$

$$\frac{1}{k} s_k = \sum \frac{(-1)^{k-\lambda_1-\lambda_2-\lambda_3} (\lambda_1 + \lambda_2 + \lambda_3 - 1)!}{\lambda_1! \lambda_2! \lambda_3!} \sigma_1^{\lambda_1} \sigma_2^{\lambda_2} \sigma_3^{\lambda_3}. \quad (1)$$

$$\begin{aligned}
 \lambda_1, \lambda_2, \lambda_3 \quad \lambda_1 + 2\lambda_2 + 3\lambda_3 = k, \quad 0! \\
 1, \quad \lambda! = \lambda(\lambda-1)\dots 3 \cdot 2 \cdot 1.
 \end{aligned}$$

$$\begin{aligned}
 \lambda_1 + 2\lambda_2 + 3\lambda_3 = k, \\
 \lambda_1, \lambda_2, \lambda_3 \cdot
 \end{aligned}$$

$$\begin{aligned}
 \sigma_1, \sigma_2, \sigma_3 \quad x, y, z, \\
 \sigma_1^{\lambda_1} \sigma_2^{\lambda_2} \sigma_3^{\lambda_3}
 \end{aligned}$$

$$\sigma_1 = x + y + z, \sigma_2 = xy + yz + zx \quad \sigma_3 = xyz$$

$$x, y, z,$$

$$\lambda_1 + 2\lambda_2 + 3\lambda_3 = k,$$

$$s_k$$

$$\sigma_1^{\lambda_1} \sigma_2^{\lambda_2} \sigma_3^{\lambda_3}$$

$$\lambda_1 + 2\lambda_2 + 3\lambda_3 = k.$$

$$, \dots \quad (1),$$

$$(*), \quad s_k = \sigma_1 s_{k-1} - \sigma_2 s_{k-2} + \sigma_3 s_{k-3}.$$

$$k \frac{(\lambda_1 + \lambda_2 + \lambda_3 - 1)!}{\lambda_1! \lambda_2! \lambda_3!} = (k-1) \frac{(\lambda_1 + \lambda_2 + \lambda_3 - 2)!}{(\lambda_1 - 1)! \lambda_2! \lambda_3!} + (k-2) \frac{(\lambda_1 + \lambda_2 + \lambda_3 - 2)!}{\lambda_1! (\lambda_2 - 1)! \lambda_3!} + (k-3) \frac{(\lambda_1 + \lambda_2 + \lambda_3 - 2)!}{\lambda_1! \lambda_2! (\lambda_3 - 1)!},$$

$$k = \lambda_1 + 2\lambda_2 + 3\lambda_3.$$

$$(1)$$

	$\lambda_1$	$\lambda_2$	$\lambda_3$
$s_k$	6	0	0
$s_6$	4	1	0
$\sigma_1, \sigma_2, \sigma_3$	2	2	0
	0	3	0
	3	0	1
$\lambda_1 + 2\lambda_2 + 3\lambda_3 = 6$	1	1	1
	0	0	2

$$\begin{aligned} \frac{1}{6} s_6 &= \frac{(-1)^{6-6-0-0} (6+0+0-1)!}{6!0!0!} \sigma_1^6 \sigma_2^0 \sigma_3^0 + \frac{(-1)^{6-4-1-0} (4+1+0-1)!}{4!1!0!} \sigma_1^4 \sigma_2^1 \sigma_3^0 + \\ &+ \frac{(-1)^{6-2-2-0} (2+2+0-1)!}{2!2!0!} \sigma_1^2 \sigma_2^2 \sigma_3^0 + \frac{(-1)^{6-0-3-0} (0+3+0-1)!}{0!3!0!} \sigma_1^0 \sigma_2^3 \sigma_3^0 + \\ &+ \frac{(-1)^{6-3-0-1} (3+0+1-1)!}{3!0!1!} \sigma_1^3 \sigma_2^0 \sigma_3^1 + \frac{(-1)^{6-1-1-1} (1+1+1-1)!}{1!1!1!} \sigma_1^1 \sigma_2^1 \sigma_3^1 + \\ &+ \frac{(-1)^{6-0-0-2} (0+0+2-1)!}{0!0!2!} \sigma_1^0 \sigma_2^0 \sigma_3^2 = \\ &= \frac{5!}{6!} \sigma_1^6 - \frac{4!}{4!} \sigma_1^4 \sigma_2 + \frac{3!}{2!2!} \sigma_1^2 \sigma_2^2 - \frac{2!}{3!} \sigma_2^3 + \frac{3!}{3!} \sigma_1^3 \sigma_3 - \frac{2!}{1!} \sigma_1 \sigma_2 \sigma_3 + \frac{1!}{2!} \sigma_3^2 \\ &= \frac{1}{6} \sigma_1^6 - \sigma_1^4 \sigma_2 + \frac{3}{2} \sigma_1^2 \sigma_2^2 - \frac{1}{3} \sigma_2^3 + \sigma_1^3 \sigma_3 - 2 \sigma_1 \sigma_2 \sigma_3 + \frac{1}{2} \sigma_3^2 \end{aligned}$$

$$6,$$

$$s_6 = \sigma_1^6 - 6\sigma_1^4 \sigma_2 + 9\sigma_1^2 \sigma_2^2 - 3\sigma_2^3 + 6\sigma_1^3 \sigma_3 - 12\sigma_1 \sigma_2 \sigma_3 + 3\sigma_3^2.$$

$$\lambda_1 + 2\lambda_2 + 3\lambda_3 = k.$$

	$\lambda_1$	$\lambda_2$	$\lambda_3$
	5	0	0
	3	1	0
	2	0	1
	1	1	1
	0	1	1

$$k = 5 \qquad \lambda_1 + 2\lambda_2 + 3\lambda_3 = 5$$

$s_5$

7.

$$s_{-k} = x^{-k} + y^{-k} + z^{-k} = \frac{1}{x^k} + \frac{1}{y^k} + \frac{1}{z^k}, \quad k = 1, 2, 3, \dots$$

$$s_{-k} = x^{-k} + y^{-k} + z^{-k} = \frac{1}{x^k} + \frac{1}{y^k} + \frac{1}{z^k} = \frac{y^k z^k + x^k z^k + x^k y^k}{x^k y^k z^k} = \frac{O(x^k y^k)}{\sigma_3^k}. \quad (2)$$

(\*)

$k,$

$k.$

$$k \quad (*) \quad l+3,$$

$$s_l = \frac{\sigma_2}{\sigma_3} s_{l+1} - \frac{\sigma_1}{\sigma_3} s_{l+2} + \frac{1}{\sigma_3} s_{l+3}. \quad (3)$$

(3)

:

$$s_{-1} = \frac{\sigma_2}{\sigma_3} s_0 - \frac{\sigma_1}{\sigma_3} s_1 + \frac{1}{\sigma_3} s_2 = \frac{\sigma_2}{\sigma_3} 3 - \frac{\sigma_1}{\sigma_3} \sigma_1 + \frac{1}{\sigma_3} (\sigma_1^2 - 2\sigma_2) = \frac{\sigma_2}{\sigma_3},$$

$$s_{-2} = \frac{\sigma_2}{\sigma_3} s_{-1} - \frac{\sigma_1}{\sigma_3} s_0 + \frac{1}{\sigma_3} s_1 = \frac{\sigma_2}{\sigma_3} \frac{\sigma_2}{\sigma_3} - \frac{\sigma_1}{\sigma_3} 3 + \frac{1}{\sigma_3} \sigma_1 = \frac{\sigma_2^2 - 2\sigma_1 \sigma_3}{\sigma_3^2},$$

$$s_{-3} = \frac{\sigma_2}{\sigma_3} s_{-2} - \frac{\sigma_1}{\sigma_3} s_{-1} + \frac{1}{\sigma_3} s_0 = \frac{\sigma_2}{\sigma_3} \frac{\sigma_2^2 - 2\sigma_1\sigma_3}{\sigma_3^2} - \frac{\sigma_1}{\sigma_3} \frac{\sigma_2}{\sigma_3} + \frac{1}{\sigma_3} 3 = \frac{\sigma_2^3 - 3\sigma_1\sigma_2\sigma_3 + 3\sigma_3^2}{\sigma_3^3}$$

$$s_{-4} = \frac{\sigma_2}{\sigma_3} s_{-3} - \frac{\sigma_1}{\sigma_3} s_{-2} + \frac{1}{\sigma_3} s_{-1} = \frac{\sigma_2}{\sigma_3} \frac{\sigma_2^3 - 3\sigma_1\sigma_2\sigma_3 + 3\sigma_3^2}{\sigma_3^3} - \frac{\sigma_1}{\sigma_3} \frac{\sigma_2^2 - 2\sigma_1\sigma_3}{\sigma_3^2} + \frac{1}{\sigma_3} \frac{\sigma_2}{\sigma_3}$$

$$= \frac{\sigma_2^4 - 4\sigma_1\sigma_2^2\sigma_3 + 4\sigma_2\sigma_3^2 + 2\sigma_1^2\sigma_3^2}{\sigma_3^4}$$

· ,  
s<sub>-k</sub> ,

$$O(x^k y^k) : \quad O(x^2 y^2) = \sigma_3^2 s_{-2} = \sigma_2^2 - 2\sigma_1\sigma_3 ;$$

$$O(x^3 y^3) = \sigma_3^3 s_{-3} = \sigma_2^3 - 3\sigma_1\sigma_2\sigma_3 + 3\sigma_3^3 ,$$

$$O(x^4 y^4) = \sigma_3^4 s_{-4} = \sigma_2^4 - 4\sigma_1\sigma_2^2\sigma_3 + 4\sigma_2\sigma_3^2 + 2\sigma_1^2\sigma_3^2 \quad .$$

## 8.

-  
·  
x, y z ,  
σ<sub>1</sub>, σ<sub>2</sub>, σ<sub>3</sub>  
(  
σ<sub>1</sub>, σ<sub>2</sub>  
σ<sub>3</sub>).  
( σ<sub>2</sub> = xy + yz + zx  
, σ<sub>3</sub> = xyz )  
,  
σ<sub>1</sub>, σ<sub>2</sub> σ<sub>3</sub> .  
,  
σ<sub>1</sub>, σ<sub>2</sub> σ<sub>3</sub> ,  
x, y z .  
· σ<sub>1</sub>, σ<sub>2</sub> σ<sub>3</sub> .  
u<sup>3</sup> - σ<sub>1</sub>u<sup>2</sup> + σ<sub>2</sub>u - σ<sub>3</sub> = 0 (4)

$$\begin{cases} x + y + z = \sigma_1 \\ xy + yz + zx = \sigma_2 \\ xyz = \sigma_3 \end{cases} \quad (5)$$

:  $u_1, u_2, u_3$

(4),

(5)

:

$$\begin{cases} x_1 = u_1 \\ y_1 = u_2 \\ z_1 = u_3 \end{cases}, \begin{cases} x_2 = u_1 \\ y_2 = u_3 \\ z_2 = u_2 \end{cases}, \begin{cases} x_3 = u_2 \\ y_3 = u_1 \\ z_3 = u_3 \end{cases}, \begin{cases} x_4 = u_2 \\ y_4 = u_3 \\ z_4 = u_1 \end{cases}, \begin{cases} x_5 = u_3 \\ y_5 = u_1 \\ z_5 = u_2 \end{cases}, \begin{cases} x_6 = u_3 \\ y_6 = u_2 \\ z_6 = u_1 \end{cases}$$

( ) ;

$$, \quad x = a, y = b, z = c \quad (5),$$

$$a, b, c \quad (4).$$

$$\bullet \quad u_1, u_2, u_3 \quad u^3 + pu^2 + qu + r = 0,$$

$$u_1 + u_2 + u_3 = -p, \quad u_1u_2 + u_2u_3 + u_3u_1 = q, \quad u_1u_2u_3 = -r.$$

$$\begin{aligned} & \bullet \quad u_1, u_2, u_3 \\ & u^3 + pu^2 + qu + r = 0; \quad u_1, u_2, u_3 \\ & \bullet \quad u^3 + pu^2 + qu + r = 0 \\ & \quad : u^3 + pu^2 + qu + r = (u - u_1)(u - u_2)(u - u_3). \end{aligned}$$

$$\begin{aligned} & : \\ & u^3 + pu^2 + qu + r = u^3 - (u_1 + u_2 + u_3)u^2 + (u_1u_2 + u_2u_3 + u_3u_1)u - u_1u_2u_3. \end{aligned}$$

$$\begin{aligned} & \bullet \quad u_1 + u_2 + u_3 = -p, \quad u_1u_2 + u_2u_3 + u_3u_1 = q, \\ & u_1u_2u_3 = -r, \\ & \bullet \quad u_1, u_2, u_3 \quad (4), \end{aligned}$$

$$u_1 + u_2 + u_3 = \sigma_1, \quad u_1u_2 + u_2u_3 + u_3u_1 = \sigma_2, \quad u_1u_2u_3 = \sigma_3.$$

$$x = u_1, y = u_2, z = u_3 \quad (5).$$

$$x = a, y = b, z = c \quad (5), \dots$$

$$a + b + c = \sigma_1, ab + bc + ca = \sigma_2, abc = \sigma_3.$$

$$z^3 - \sigma_1 z^2 + \sigma_2 z - \sigma_3 = z^3 - (a + b + c)z^2 + (ab + bc + ca)z - abc$$

$$= (z - a)(z - b)(z - c)$$

$$a, b, c \quad (4).$$

$$\sigma_1, \sigma_2, \sigma_3,$$

$$x, y, z \quad (5)$$

$$(4)$$

$$(5) \quad x, y, z \quad x, y, z$$

$$\sigma_1 = x + y + z, \sigma_2 = xy + yz + zx, \sigma_3 = xyz$$

$$\sigma_1, \sigma_2, \sigma_3 \quad \sigma_1^\circ, \sigma_2^\circ, \sigma_3^\circ$$

$$\sigma_1^\circ, \sigma_2^\circ, \sigma_3^\circ$$

1.

$$\begin{cases} x + y + z = a \\ x^2 + y^2 + z^2 = b^2 \\ x^3 + y^3 + z^3 = a^3 \end{cases}$$

$$\begin{cases} x + y + z = \sigma_1 \\ xy + yz + zx = \sigma_2 \\ xyz = \sigma_3 \end{cases}$$

$$s_k = x^k + y^k + z^k, k \in \mathbb{N} \quad \sigma_1, \sigma_2 \quad \sigma_3,$$

$$\begin{cases} \sigma_1 = a \\ \sigma_1^2 - 2\sigma_2 = b^2 \\ \sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3 = a^3 \end{cases},$$

$$\begin{cases} \sigma_1 = a \\ \sigma_2 = \frac{1}{2}(a^2 - b^2) \\ \sigma_3 = \frac{1}{2}a(a^2 - b^2) \end{cases}$$

$$\begin{cases} x + y + z = a \\ xy + yz + zx = \frac{1}{2}(a^2 - b^2) \\ xyz = \frac{1}{2}a(a^2 - b^2) \end{cases}$$

$$u^3 - au^2 + \frac{1}{2}(a^2 - b^2)u - \frac{1}{2}a(a^2 - b^2) = 0.$$

$$u^3 - au^2 + \frac{1}{2}(a^2 - b^2)u - \frac{1}{2}a(a^2 - b^2) = (u - a)\left[u^2 + \frac{1}{2}(a^2 - b^2)\right].$$

$$u_1 = a, \quad u_2 = \sqrt{\frac{b^2 - a^2}{2}}, \quad u_3 = -\sqrt{\frac{b^2 - a^2}{2}}.$$

$$x = a, \quad y = \sqrt{\frac{b^2 - a^2}{2}}, \quad z = -\sqrt{\frac{b^2 - a^2}{2}}.$$

2.

$$\begin{cases} x + 2y - 3z = a \\ x^2 + 4y^2 + 9z^2 = b^2 \\ x^3 + 8y^3 - 27z^3 = a^3 \end{cases}$$

$$x = u, \quad 2y = v, \quad -3z = w.$$

$$\begin{cases} u + v + w = a \\ u^2 + v^2 + w^2 = b^2 \\ u^3 + v^3 + w^3 = a^3 \end{cases}$$

$$u = a, \quad v = \sqrt{\frac{b^2 - a^2}{2}}, \quad w = -\sqrt{\frac{b^2 - a^2}{2}},$$

$u, v$

$w$

:

$$1) \quad x = a, \quad y = \frac{1}{2}\sqrt{\frac{b^2 - a^2}{2}}, \quad z = \frac{1}{3}\sqrt{\frac{b^2 - a^2}{2}};$$

$$2) \quad x = a, \quad y = -\frac{1}{2}\sqrt{\frac{b^2 - a^2}{2}}, \quad z = -\frac{1}{3}\sqrt{\frac{b^2 - a^2}{2}};$$

$$3) \quad x = \sqrt{\frac{b^2 - a^2}{2}}, \quad y = \frac{a}{2}, \quad z = \frac{1}{3}\sqrt{\frac{b^2 - a^2}{2}};$$

$$4) \quad x = \sqrt{\frac{b^2 - a^2}{2}}, \quad y = -\frac{1}{2}\sqrt{\frac{b^2 - a^2}{2}}, \quad z = -\frac{a}{3};$$

$$5) \quad x = -\sqrt{\frac{b^2 - a^2}{2}}, \quad y = \frac{a}{2}, \quad z = -\frac{1}{3}\sqrt{\frac{b^2 - a^2}{2}};$$

$$6) \quad x = -\sqrt{\frac{b^2 - a^2}{2}}, \quad y = \frac{1}{2}\sqrt{\frac{b^2 - a^2}{2}}, \quad z = -\frac{a}{3}.$$

3.



$$\begin{cases} x + y + z = 6 \\ xy + xz + yz = 11 \\ (x-y)(x-z)(y-z) = -2 \end{cases}$$

$\sigma_1, \sigma_2, \sigma_3$ .

$$\sigma_1 = 6, \sigma_2 = 11.$$

$$\sigma_1, \sigma_2, \sigma_3$$

$$\sigma_1, \sigma_2$$

$\sigma_1$

$x, y, z$ .

$$(x-y)^2(y-z)^2(z-x)^2 = 4.$$

$$\begin{aligned} (x-y)^2(y-z)^2(z-x)^2 &= (x^2 + y^2 - 2xy)(x^2 + z^2 - 2xz)(y^2 + z^2 - 2yz) \\ &= O(x^4y^2) + 2x^2y^2z^2 - 2O(x^4yz) - 2O(x^3y^2z) - 2O(x^3y^3) - 8x^2y^2z^2 \\ &= O(x^4y^2) - 6x^2y^2z^2 - 2xyzO(x^3) - 2O(x^3y^3) + 2O(x^2y) \\ &= (\sigma_1^2\sigma_2^2 - 2\sigma_2^3 - 2\sigma_1^3\sigma_3 + 4\sigma_1\sigma_2\sigma_3 - 3\sigma_3^2) - 6\sigma_3^2 - 2\sigma_3(\sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3) - \\ &\quad - 2(\sigma_2^3 + 3\sigma_3^2 - 3\sigma_1\sigma_2\sigma_3) + 2\sigma_3(\sigma_1\sigma_2 - 3\sigma_3) = \\ &= \sigma_1^2\sigma_2^2 - 4\sigma_2^3 - 4\sigma_1^3\sigma_3 + 18\sigma_1\sigma_2\sigma_3 - 27\sigma_3^2 \end{aligned}$$

$$-4\sigma_1^3\sigma_3 + \sigma_1^2\sigma_2^2 + 18\sigma_1\sigma_2\sigma_3 - 4\sigma_2^3 - 27\sigma_3^2 = 4.$$

$$\sigma_1 = 6, \sigma_2 = 11,$$

$$\sigma_3 : \sigma_3^2 - 12\sigma_3 + 36 = 0.$$

$$\sigma_3 = 6.$$

$$\sigma_1 = 6, \sigma_2 = 11$$

$$\sigma_3 = 6.$$

$x, y, z$

$$u^3 - 6u^2 + 11u - 6 = 0.$$

$$u_1 = 1, u_2 = 2, u_3 = 3.$$

$u_1, u_2, u_3$

$x, y, z$ .

$$x = 1, y = 2, z = 3.$$

$$\begin{cases} x_1 = 1 \\ y_1 = 2 \\ z_1 = 3 \end{cases}, \begin{cases} x_2 = 2 \\ y_2 = 3 \\ z_2 = 1 \end{cases}, \begin{cases} x_3 = 3 \\ y_3 = 1 \\ z_3 = 2 \end{cases}.$$

:

$$1. \begin{cases} x + y + z = 2 \\ x^2 + y^2 + z^2 = 6 \\ x^3 + y^3 + z^3 = 8 \end{cases} \quad 2. \begin{cases} x + y + z = a \\ x^2 + y^2 + z^2 = a^2 \\ x^3 + y^3 + z^3 = a^3 \end{cases}$$

$$3. \begin{cases} x + y + z = 9 \\ \frac{1}{x} + \frac{1}{y} + \frac{1}{z} = 1 \\ xy + yz + zx = 27 \end{cases} \quad 4. \begin{cases} x + y + z = a \\ xy + yz + zx = a^2 \\ xyz = a^3 \end{cases}$$

$$5. \begin{cases} x + y + z = 2 \\ (x+y)(y+z) + (y+z)(z+x) + (z+x)(x+y) = 1 \\ x^2(y+z) + y^2(z+x) + z^2(x+y) = -6 \end{cases}$$

$$6. \begin{cases} xy + xz + yz = 11 \\ xy(x+y) + yz(y+z) + zx(z+x) = 48 \\ xy(x^2+y^2) + yz(y^2+z^2) + xz(x^2+z^2) = 118 \end{cases}$$

$$7. \begin{cases} x + y + z = \frac{13}{3} \\ \frac{1}{x} + \frac{1}{y} + \frac{1}{z} = \frac{13}{3} \\ xyz = 1 \end{cases}$$

$$8. \begin{cases} x^3 + y^3 + z^3 = \frac{78}{3} \\ xy + yz + zx = x + y + z \\ xyz = 1 \end{cases}$$

$$9. \begin{cases} x + y + z = 0 \\ x^2 + y^2 + z^2 = x^3 + y^3 + z^3 \\ xyz = 2 \end{cases}$$

---

  
$$10. \begin{cases} x^5 + y^5 + z^5 - u^5 = 210 \\ x^3 + y^3 + z^3 - u^3 = 18 \\ x^2 + y^2 + z^2 - u^2 = 6 \\ x + y + z - u = 0 \end{cases}$$

$$11. \begin{cases} 3xyz - x^3 - y^3 - z^3 = b^3 \\ x + y + z = 2b \\ x^2 + y^2 - z^2 = b^2 \end{cases}$$

12.

$$u^3 - 2u^2 + u - 12 = 0.$$

13.

$$u^3 - 2u^2 + u - 12 = 0.$$

14.  $a, b, c$

$$a^3 + pa + q = b^3 + pb + q = c^3 + cp + q = 0, \\ a + b + c = 0.$$